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XI STANDARD
COMMERCE (Model)
Time allowed: 2.30 hours Maximum marks: 90
LN1fl6y - 1/SECTION -1 [20 X 1 =20]

GmiLy: i)  AmasHg alamssErsHGWw allmweaflssseawn
i) Qam@ssUUL(BeTen BTG allemLgeflsy LS e
gy allenLuilemer CaHIHASHGSHSH &ML (L 6or
allenLuillemeru|d CEFISHF| 6T(LpSHa LD
Note: @) Answer all the questions.

(ii) Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer.

1. ol (PL UREG BMILGHEHET LITTILISeTTe6u
M SeoflwmenT FLL [BUJ &60T6MLOU|6DIL LLIG606V
1) euemyim| CUITMILIL
a  FlesHs eumpe| §evemev
1v) Qumg (WHHemy

(S)) (1) LoMMILD (11)
() () LDHMILD (IV)
(@) (1) LLHMILD (1V)
(FF) (II) LDOMILD (111)

The features of Joint Stock Company are

(I) No separate legal entity
(ID) Limited liability

(IIT) No perpetual succession
(IV)Common seal

(a) (I) and (II)
(b) (II) and (IV)
(c) (D) and (IV)
(d) (IT) and (III)

2. et eussTeImmMIeT 61& eMmumy  BLellqdHm&ullest  HoLUNuleLL|&erm
@eLem6v?
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(&) QUTIBL&6 LMHMID CFemeUMIL 2 (h6UTEE S 6V

() QLT gmmed

@) Qum@per MHMID CFemeu LFILDTHOLD (SI) eNMLIETETT
(FF) FLOUOMD / Fa6dl

The following does not characterise business activity?

(a) Production of goods and services

(b) Presence of Risk

(c) Sale or exchange of goods and services
(d) Salary or Wage

3. QUTIQITE SHS QL JUTL L& CIHTETIILG)
() 2DUSHS CHMHeD
(&) 6U6TTTNSHLD
(@) ewmumyL
(IF) Qemeu MM HHILD

Normally high level risk involved in

(a) Industry

(b) Commerce

(c) Trade

(d) All of the above

4, SLp&&EILUDMIET 618 Fal (H(H-FMJm HmIeI6TLONEGLD?
(8l) Fa sl UmIG Hmiod
(o) SesTlimen eu6wN&LD

(@) Sir& Hmiotd
(FF) &al_(hMeE] FRISLD

From the following which one is non-corporate enterprise?

(a) Joint Stock Company
(b) Sole Trading Business
(c) Government Company
(d) Cooperatives

5. oL MEGUIenLD eRLILITQITSHMS Q6T eDLN&HSHEVTLD?

2
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(9)) §MI& HemL (Pemm eNG&ern

(o)) FaL_LT6Ul60LD &FhiS HEOL (LP6mM S &6l
(@) Fal L mesoienid FLL LD

(FF) SaL_L_[T600T60ILD

The partnership deed is also called as

(a) Articles of Association
(b) Articles of Partnership
(c) Partnership Act

(d) Partnership

0 HMILS Sler QUIES BN S 60U mier iy
GBS CHEHADMIEET?

(o)) SL6HCHT]

(o) SL6vmer&ern

@) sLBLGUUSEHTSST]

(FF) LIRIGSTITTS6IT

The Board of Directors of a company is elected by
(a) Creditors

(b) Debtors

(c) Debenture holders

(d) Shareholders

UL Iquled 1 -60 2 eTemeumenm L iquled 11 2 L6 QuUTBSHLL UM,
&G QamhsHsUIUL(ReTer QHTGLNO(BHE 2 Mmi&GeT alemLenul Qgifley

Q&S
LILlqulev I LILlqulev II
(i) QUTBeMTHTY CHIEHSMIGT 1. GCeuemeveumLiL] 6Tl 5He0
(i) FeS CHTEHSMIGEN 2. mISIGeuremy S(pUSH UHS&IS60
(i) Himieuest CHT&H&MmIG6r 3. @Qumg mevedt
(iv) CHHW CHTESHMIGET 4. @eomuid L (Heug)
Q& ME&LIL|

() (i) @) o (1)
o) 1 2 3 4
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(o) 4 3 2 1
@ 2 3

(F) 3 4 1 2

—_
AN

Match List I with List II and select the correct answer using the codes given below:

ListI ListII
(1) Economic objectives 1. Employment opportunity
(i1) Social objectives 2. Customer satisfaction
(iii) Organisational objectives 3. Welfare of the people
(iv) National objectives 4. Earning profit
Codes:
(i) (i) () (@v)
(a) 1 2 3 4
(b) 4 3 2 1
(c) 2 3 1 4
(d) 3 4 1 2
8. HMELEMID JVIQILSSHEHT Hemenden 2 MILL| HMIQIETRIGET  HIeO6wl

PDIUETRISERSS (PiRAEEHGL JHUTTHMS GSHLILG
() OWILGSSHISHED
(&) UTeUeOTSHSLD

Q) HHSMILD
(FF) €2(IHMI&60600TLIL]

Dispersal of decision making power to branches/affiliates/subsidiaries by head office represents

(a) Centralisation
(b) Decentralisation
(c) Power

(d) Integration

9. @@ SIJ& HMIOW wWr@Gsnlwl QUIIfeL LIRIGSmeT eUMhiGSHMmEI?

(&) Nygw WwHSIH
() GYWI&ESH HEOeV6]
@) @I gemeveno HELG

(FF) LOMHEL (PHELEMLDEFFI]
A Government company purchases shares in the name of

4
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(a) Prime Minister

(b) President

(c) Chief Justice of India
(d) State Chief Minister

10.  SLPSHEWIL FaMHMISENED 618 HEUMTEN FaMHMIMGLD?

() Ulufled Qb Cmeng qREGSL  QWDEME  CUTRIGET
NN$QsE&GWD 2 MHUsHSH QSMLHeLTGLD

(&) STUTRISGEHD, WOGHSRSEHD HSTCauT e 2 LCWTSESHNESTS
QIaMISSLILG6US LILET] QSTLHMEFTENEVSHET @& LD

@) s&&emu  QumGLsemer ULGam Ughlenevsailed LTRSS
QUTBLSemeT 2 MUSS Q&g WML QHTHMETMED Y GLD

(F) &&FMU QUITBLSET LLGaIM UlgHlemeuseanetsd &L [hGH ST &6l
LMD FF&SmT Gumem QUIT@BL&smeT SWIMFLILG &L (HLOM6s
QBTLHMEFTMEL Y GLD

Point out the wrong statement in the following.

(a) Extractive industries extract products from natural resources

(b) Genetic industries engaged in breeding plants and animals for their use in further
reproduction

(c) Manufacturing industries are engaged in producing goods through processing of raw
material

(d) Construction industries are involved in the successive stages for manufacturing sugar and
paper, etc.

1. SD&&EuLaummIeT 6% QSHMHMGIMMD aIRIS l6060?
(&) @BHL QBTN HEHEHPSHLD
(oh) CoHAW afl_@ usd eumis
@ QnHw Hm QAHTLHELSET eUeaMTEFS cUMIS
(F) @S QASTHM eeMJFH eUnmIS

Which bank is not an Industrial Bank?

(a) IFCI
(b) NHB
(c) SIDBI
(d) IDBI
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2. @@ Qurg HmingsHer siemwly (WmDGULIged GMHS 2 L Lflaled
SLp&6IL eumMed @L DQUMIEUS WITGI?

() Qurg CHI&ESMmIS6N

() (PSS CHTESMIGEN

(i)  Gl6m6wT GBHT&HSMIGE

(iv)  SMOA&FWIL CHTEHSMIGE

v)  @s71 ChHI&sMm&en

&GLp QeETESsUUL(Beten GMOuIL6mL LweTL(h & &) gijlwimest
alenLenwlsd C&HIHES(H &S

(S)) (D), (i) LLOMILD (iv)

(W) (i), (iv) LDOMILD (v)

@) (), (i) LDOMILD (i)

(FF) (ii), (i) LDMMILD (v)

Which of the following are stated in the object clause of the Memorandum of Association of a
public limited company?

(1) General objectives (i1) Main objectives (ii1) Ancillary objectives
(iv) Incidental objectives (v) Other objectives

Select the correct answer using the codes given below:

(a) (i), (ii) and (iv)
(b) (ii), (iv) and (v)
(¢) (i), (ii) and (iii)
(d) (ii), (iii) and (v)
13.  Metraupeustieummlev 61§ eumSHuiled HH 2 Hall QUMIQISDHEHTE Fa(hSHeL
MNemeoriinssl LwesTU(h $SUILEGHMGI?
(9)) GIEOD(P&HEF FITEOTMITED)60T
(&) LG && SMLILITENT Q&)

@ sOOUWs Qe
(FF) LI6DOTIL_SH& &T60TMT6D6T

Which can be given as a collateral security for getting financial assistance from bank?

6
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(a) Dock Warrant
(b) Warehouse Receipt
(c) Dock Receipt
(d) Warehouse Warrant

14. SLP&HS@ILUDOMIET 618 SRS CLIT(HHSEN6L6m60?

() QamLplev - @eomuLd

(@)  HoUysCFTLHeL - QBMLHIL (LPeMME SL_L 6U0ILD
@) Geuemeveumuiiy - FLOLIAMD 9606V G| Fa60l

() 2.Muss CHmplev - QUMRAIGHEL L6V aNMHMEL

Which one of the following is not correctly matched?

(a) Business - Profit
(b) Profession
(c) Employment

Professional fee
Salary or wages

(d) Industry - purchase or sale

15. SLpS&eILeummied 61%H SMLISL g6 CHTLUT(H 1606V?
(91) SL6TT Sl6rM5&H60
(o)) D& HLOLNGEMS
@) smilb@k Qummbevsd
() FLGms

Which of the following is not a principle of Insurance?

(a) Lending funds

(b) Utmost good faith
(c) Insurable interest
(d) Indemnity

16.  @nsHwl Mlejeu eumGHuler umgOUflLl UsmNsailed @L LD QUDTSHS)
61512
(@) Sieus imnliy Coemalse
(o)) SITH 6T eUMIS
(@) URIS&ET6T 6URIS
(i) Sal_(Bmey Slomuilene 48515 e0
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The traditional function of Reserve Bank of India does not include

(a) Clearing house services
(b) Government Banker

(c) Bankers bank
(d) Supports of co-operative sector

“@mISHenevs L6 FGeumy” 161N CQEFMMHCRMIL GMILLIGI?
(9) 2608 QRS
() W QRIS

(@) @I flEged eumis
(FF) UM eVGLL eUmI&

The phrase “Lender of the last resort” refers to

(a) World Bank
(b) Asian Bank
(c) Reserve Bank
(d) State Bank

SLp&6IL UMD 618 QFHML[Jousulg CUTSHEG6UTSHEH6T HITEnLD H6L6EV?

@) B8 RM QUNSGEHLONET STV ILL eUmeutsnll Cl&TEu(heTens)

(&) Bl SMISHMHG &6ugs WMMID  LIHLO6ITEN  QUITHL &emern
&HG CFeLeUFMEG DG CIUM(HSHFHLOTESIS)

@) Bl MU LWeiGHeng LseL-Qre (UG SeNs&SHmsi

™ Q& Nm CUTEHEGTHMSHS SMLIqeD GausLD GnMeUTe )

Which is not an advantage of rail transport?

(a) it is regular schedule of timing

(b) it is suitable for carrying heavy goods in large quantities over long distance
(c) it can provide long distance travel throughout the day and night

(d) it is slowest means of transport

ol L mefsefNett SLN&HL 2 flemLn&enen &e6:
(1) NWIMUMTSH&H6L LUMRIEG QU@L 2 [flenid

2) @eomuggled LRICHHEGLD 2 [flémLo

(3) HLMIGG 6ULlq GU(BLD 2 [flémLd

8
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4) &L6dT QB 2 flemLd

Fal L mergeMest &L L LiqUImest 2 [flenLouITed)?
(1) (1) LDMHMILD (4)

() (2) LDOMILD (4)

@) (1), 2) LOHMILD (3)

(FF) (1), (3) LDOMILD (4)

Consider the following rights of the partners

(1) Right to take part in the business (2) Right to share profits
(3) Right to receive interest on loan (4) Right to receive loans

The legal rights of partner would include

(a) (1) and (4)
(b) (2) and (4)

(©) (1), (2) and (3)
(d) (1), (3) and (4)

SLPSEIL. QUTHSKIIMIGHENET &(HSHHEL C&TES:

oMM (A): MASHFH Fal LMaNGEHD 6UUS  CEBTEILTLD (b
Fa(RUUMEGITEnLD BIMI6UEITLD &6V &HSBLILIL 6VTLD.

SMIEUILD (R): @M FalLmguemn  Hmelald  Fal L mefseafler

2 L 60TLIML_L_T6L 2 (HeUTSSLULHEUG) GumeuGe
9 L 60TLUML_LIT6L H606VSHSHLILIL 6VITLD.
&GLp QeETESsUUL(Beten GMOuIL6mL LwleTL(h & &) gijlwimest
alenLenwlsd C&HIHES(H &S
(8l) (A LOMID R) QoG &, CLEID ([R) 6L (A) NDHG
gilwmest elen& &L
(&) (A) LOMID R) QoG &, CLEId [R) 6L (A) NDHG
gilwmest elen&&HL0606V
@ (W &, pemed (R) HeUm)
(F) (A UMl 60TM6L (R) &Ifl

Consider the following statement
Assertion (A): A firm may be dissolved when all the partners agree to close the affairs of firm.

9
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Reason (R): Just as a partnership is created by contract, it can also be terminated by contract.

Select the correct answer:

(a) Both (A) and (R) are true and (R) is the correct explanation of (A)

(b) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true

LNifley - 11/ SECTION —II [7 X 2=14]

GmiLyY: TmeUGIIMID 7 aNT&&ELSHE allmLweaflssalb. 1aummleL
elleorm 6T6vr 30-M( SLLMWLOTS ellenL weflssayL.

Note: Answer any 7 questions in which question No. 30 is compulsory.

21, 6Ihg eMWmumy Slemwlemnl FLL  FLRIG WD gHID Qe
SIOUSHHELMD? SIGH60T CLMT(HENET FoM)S.

Name the type of organisation in which there are no legal formalities required to start? State its
meaning.

2. H®UUS aetLel] @B BEISHe AMUUNGS QB BT oyef.
@&lev samULL(BeTen L 6] 6hg QUITIHeMTHT] GQ&FWweoUmlqe0 F(H
UL BerTenm)? SiGHes QUITHEnean 61(LDSIS.

Thirupathi is the famous cardiologist of his town. Identify the type of economic activity
highlighted in the given case. Write the meaning of it.

23.  8eur  eteorueuy  @QUGLeVAUTHEHL, HHEG ~FTHHLITE BHSGI
UL GSenen sneusgl s Ligs&Gd QsMbleney Q&S5 eUBAMT]. 6wl
QEwd 2 MUSGSHSE QS TLHEOI6T QUL 6T60T6ar? QUITIHET FaM) 5.

Siva is a fisherman in Rameshwaram and owns five fishing vessels. Identify the form of industry
in which he operates. Give the meaning of it.

2. @@ eumiNs  HimeuesHlett  QEFTHSHIGET  €H.  1,00,000.  S6VIT6L
Sibhimieuerd CeuaMUT _&En&E& ST Geueutrig Ul &L 63T ¢h. 1,40,000. Q&Hlev
gagULl(Bemeruly  Sihg  QUTMILNeT QU eTetTesr?  SL6IHCHM
MNeitex(pd HmieuesThigaiest L& 6T6sT60T BHL6UIG&HME 6T(H&5HS (LDIgULD?

1) @& sesTlwme eueN&HLONG @\(HHSHTEL

10
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1 o8l () LOMMILD (o) 6T60TLIEUIT (G 61T FLDOLDIT60T
ol L mefl&enms @) (hhSHmeL

The business assets of an organisation amounts to Rs. 1,00,000 but the debts that remain unpaid
Rs. 1,40,000. Name the liability and what course of action can be taken by the creditor if:

(I) The organisation is a sole proprietorship business.
(II) The organisation is a partnership firm with A and B as partners with equal shares.

25.  CQumgl Hmingder gGaamid Qnean®G SMULS FamisGemar 6(LDSHIS.
Write any two salient features of Public Limited Company.
26.  Fal (M6 FRIGMIGETET JCHEDID BHT6IS UMSHEM6N 61(LHGIS.

List out any four types of co-operative societies.

27. UmSHmesiliLed wmmId ey QFwed (pemm LUmS HmesfiLev,
Qemaus@s@® Qe Guiwmen GCeumun(h&er gCHID  @eutilq 0601
o M)|5.

What is the difference between Business Process Outsourcing and Knowledge Process
Outsourcing?

28. e@edQeum@ QMO & SH;L(B wOHmIb elusg Cumsim LLGoum)
AQLismens Qamanereaigl. Seummhed Heo QL e ST (H
Hmimser Gumerm UL eumlhd HMIUTRISEHHE WIOMLD CFUIL
QuigId. SMULE 6TETMIT6L 6T60T60T?

Every business is exposed to different types of risks such as fire, theft, accident, etc. some of the
risk can be transferred to a specialised institution known as Insurance Companies. What do you
mean by Insurance?

29.  (HLOMI eT6oTLEU] [HTLDESHED 6T60TM 26Mfl6L €(IF SHITLHEML LI LIGHOT6M 6060
QEFMHSHLOMS 60I6USGI6ITENITI].

(i) Qg Nf505HGGWL 2 MLUSSH QSTHNISHE 2 STJ6UTLOMELDT?
(i)  SIHET QUITHET &(H&

Kumar owns a cattle breeding farm in Namakkal.

(1) Is this an example of extractive industry?

(ii) Give the meaning of such industry.

11
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@R, UENS] Heralenl Wl QS THMHEFTMeLEMII €. 10 WL FHFHDGS
flwenLed  STUSLE HneuasHL (D  WOMID €. 5 6UL&LD
LHINHG B, @bHwr STUSILE HmeuasHL (wb, & &Mk
CQEWGlETeMT]. i QFMPDMETMEL UP(PeUGID Fullemed SiHeMHMSI
SUBSG Queni(h HheuaTmGMLOI(BHEHID, CEIHEH €H. 9 6VLFLD
BLL (R SUUULL G eedbleum@® HheusarHL O(BHSID euj GL(HLD
Q&M 6T6L6UETEY?

A businessman insured his factory against fire for Rs. 10 lakhs with the Oriental insurance

company, and Rs. 5 lakhs with New India insurance company. The factory is destroyed by fire
and the actual loss is Rs. 9 lakhs. What is the amount of contribution made by each company?

LNifley - 111/ SECTION — III [7 X 3=21]

GmiLyY: TmeUGIIMIL 7 aNaT&&ESHE allmLweaflssalb. aummleL

Note:

31.

32.

eileuTm 6T6v0T 40-M( SLLMWLOTS elenL weflssalL.

Answer any 7 questions in which question No. 40 is compulsory.

QupemsCWIn@ QMY Q&mEu(, HHET 2 .HNUITEL CLIT(IHL &emern
2 pUGEH QFLWD 2 muUsSH Qampedesr QU  GSOILNGS.
SieummMlest eUen&&HaflerT @Qetriqemesl! LMD 6T(LGIS.

Name the industry which is concerned with the production of goods with the help of the nature.
Explain any two types of such industries.

UmLLT  HMIoWn  SHETElenL W 6l6wNs  BLEGSMEHmET  6T(LHLS

BIG&Er&@ CeL BLEF aUBEHADE.
() @b euflgsefled GMIUILLUULIq(H&S60TM HMILLD 6THG EUEMSITETTHI?
(i) SUSHEWIOL U HetTemLD&HaTeL JCHMID @Q6turia.ement 6@ .

Bata Corporation carries out its business activities in around seventy countries.

(1) Which form of corporation is identified in the given instance?
(i1) Explain any two advantages

12
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33, &EMEL6UTEUNN  eT6oTLIUNlET  STHHT @[  SHIOMNSHSHOLMW  HL S
QUMBEADT]. SHL SQUBOLIW HHeMGUI(HLD (H 2 (HLLIN6TITTEUI].
SLQUDHCOHMTIHEFHG S]] 6CH LD&ET Sy 6.

() SUMHES UHASHTLHL FHUBL SSHSH 2 6T m?
(i) S1HCSTPEO6HT ClLwenrsd GSOILNEGS.
(i) SIH6TT FMLILS FamIGH6T JCHEMID QT6TuTg 6068165 FoM) .

Kalaivani’s grandfather deals in the business of garments and her father is the member of the
same. She is the only daughter for her parents.

(1) Is she eligible to enter into the family business?
(i1) Identify the type of business
(iii) Explain any two of its characteristics

3.  &&Mo eteniLed] 6@(h BH'EGSHT UJHE GHLUSMES CEJHSHU]. Ii6Ul]
SeTemiemL il GGU aUBLTEIGmSL CLUHEGMSDSHNE 6(h aTlends
SenLenll QSHTLMS N@GLUADM]. 2 hSEHLU SHSHSHILILG ST
61h  eumSWITenT  QIMUTIHMG  CISTLRIGEOMD?  SISHEWIE0LILI
betTenLo&efled gCHID Q6T enes 61(LG)IS?

Sudhakar belongs to a middle class family. In order to increase his family income, he wants to
start a provisional store. As per your judgement, which form of organisation would be best suited
for him? Explain any two advantages of it.

35, UGWIL&& SMULSHISENED LD eUm&SHe 2 6arnen” eummieL §C&HmIDd
eLp6aTM6n 6T NS G S.

“Warehouses are many types”. Explain any three.

3.  uMpg &epemy  Hsd  ONCLL, QFetemerr Nfley  SIEVIEULSLD
SeorgmlemL il 2arplifseaflest LOMTH FloUemdemg GCHHW eteniem H
LUflLTOMLD epevd QFNIHS (LPlg6 QFUIGIETENG).

@) GCa&lw Lhletreoreom) H& LFIOMHOLD 6T60TMTEDL 6T60T601?

(i) @&OHGW, o euend Chy QLIES &Hjous WMHMSGLD 2 66
CoumIUT(B &6 WITem6L?

Bharath Sanchar Nigam Limited, Chennai division has decided to transfer the salary of their
employees through NEFT.
(1) What do you understand by NEFT?

13
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(i1) Differentiate with RTGS.

37. @QnHw  &SHAHAT SHesserm SOWNS SIp&E FMINed  henL UMM
&Geomald Q&ML GUTLIqued HIFOeOM LRIGQOUOMITT. S0 el
Qeumm QUHMMTY. SUBES €h. 50,000 QUTSHSL UMl&E SHenL &GleTens.
GO gl HemlenL Ul W&aflett 2 wfsLell  CFalmHsHNS
QRIS BHH UBLMGEHHSG neulll| CFWIST.

(i) Sieu] emeulil QFUIG SHeuuTsHSH 60" GILILIT 6T60T6012
(i) AGH6HT @revtiR QAFHWMUILSFMISE6T 6T(LDSIS.

Nirmala participated in a slogan competition organised by the Government of Tamilnadu on
Independence Day. She won the competition and was awarded a cash price of Rs. 50,000. She
deposited that amount in a bank account for a period of five years, so as to be able to provide for
higher education of her daughter.

(1) Identify the bank account in which she has deposited that amount.
(i1) State any two features of such an account

38.  LMeoreu(pld Cumg HmicustmiGeilett CUUITHET 6THG 6UMBM FMHSH S
616018 (GMHOILINGS.

() @HSHW HEfel aumis

(i) @bHuwiest @ruilevGeu

(i) SODBTH & CUTHGTHHIS HLHSHLD
Identify the form of public sector enterprise in the following cases:

(1) Reserve Bank of India

(i1) Indian Railways

(iii)) Tamilnadu State Transport Corporation Ltd

39. e Hmeusid QUIGLESMETS SLMISE elpumeT QFLSMS.

Sueumm QUIBLSMET SLMIGEG eNHGWL Curg eumm&lwieu] LEg)
CQuUOOEUTTEL LIMHMIEFFL(H TWPBSULGEDS. G @@k SO WOHMILD
b esywmer ewmury HmieusTons @@bHSTeL, HeOL (MM (L &6Ol6d
SEUNELONET LUGH LrmmEL g (WLME aGHng. Qns QL

14
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CUTEGUSMS, 6TL(h& HL6T (LPSHeMLD 6T60TN C&FemeU 2 (HeUSHSLILILL G).
S1H60T QuieLL&eT JCHMID eL6TMIEnsT 6@ 5.

Firms sell goods on credit basis. When goods are sold on credit basis, bills are drawn on the buyer
by the seller. In case of small and medium sized business, a considerable part of working capital

is tied down in bills receivable. In order to overcome this hurdle, factoring services are emerged.
Explain any three features of factoring?

SLPSEWIL. QUTHKIIMIGET 6THG 6UNS SMOLILNMEG CILIT(HSSLOT6uTS]?

()  Heweowmesr WWOMID QSTLIFH SHeolend  QBMETIIL.  6)6TINS
Sl6OILDLILY

() umguilw  QEFTHGHIGSMETL  LILETLEGSS QML  QEuwiujd
Sl6OLDLILY

(i)  GEOOEUTET CFEV6BHEDHL 6T CFHMLHMETSH CHTLRIGLD SeMLOLIL|

Which form of business organisation is suitable in the following cases?

(1) The business organisation should have stability and continuity.
(i1) The ancestral property is to be used for doing the business.
(ii1) There should be minimum expenses in starting the business.

LNfl6y - IV/SECTION - IV [7 X 5=35]

GmiLyY: AMHG aNO&HEEL&HGW allemLweflsseawn

Note: Answer all the question

LewIL_MiGeflesT 2 MUSH wOMID eNHCWTSD  CQFWIWD  GUTSILD
QUETINEHSHL LIeL SHOLSE@HD Q6L ULMISEHLD JMHLILIGE 6.

@)
(i1)
(iii)

SHHOL &6 JCHDID LWHSHen6ur LI Iqu1ed(Hs
sleummley gCHID cLpsTdlenent aeé G s
Slumenm BHGLD ULDIGET Wimenew?

(SI6L6VG))

‘QaMpled  QEwe(WemMm  UDSHMEIL LD 660D  HEMEVLILTeL
SLp&EIIL eUMenm eTledIfl&Hs.
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(i) SIHEST QUIT(B6IT
(i)  (LPSHETIENLD [HL6MIG5H6ME
(i) JCHEMID ELPEITM)| [HEOTEMLOGEIT

Business consists of many hindrances, while facilitating the production and distribution of goods.

L. List any five such hindrances.
II. Explain any three.
III. How are they overcome?
(OR)

Explain briefly about Business Process Outsourcing under the following headings:

(1) Meaning
(i1) Core Activities
(iii) Any three benefits

42, eUENSLD 6T60TM &ML CQUTEHL &6 OMID CHFMEUBET CULPMMIG SNV S
GGG  gyeurmed  NWIMUTID  6T60Im  CFTL  QUITEHL &6  LOMHMILD
Caemeusemeal aIMhiGHL LOMHMID aPuUmss GMEGWL. QendsHsHailly
Qemeu  @QreanigHGSD 2 6Ten MM  CoumUTH&HEMT L L QT6TOILI
LUBSEIS.

(916L6V &)

ABSHI  SIPEFTRISD, BILIgeL HHSHHHIQUMBD eroTIL  CLTETS6N
W&AHLSGHSMS 2 mIHHFH.  Cogyd,  Qeremmul  SleTeb
Qupeumflwlmest LD &G 61T LSl (Wpemnm QBTLHILHIL LSS MG
@emisailevemen, ghleeeiley SibhG CUMsTHeley ellemey &FhHenguilev
D& SIHHOTE 2 66N 6TOMMID 2 IS BHSH. QHIHW YITIES
Hmieuetd edleumen e(h CSMHOBIL LSS 2 (HUTEHS, iG6n6o
ABH THESG SMILT USSHE. SG6euiqLiLienl_ulled SIFFTHRISGLD
oML CUTeTHemeT Genmhe ellemeouiley 2 MUGEH GFUILT (LPIgULD
601D @B USHIS BBIHMS (P61 MeUSHF. ABDETECR @@ SiT&
HmIbb QSTL_RISLULL ).

() oIf& MWD euemFUIm).
(i) SIGH60T TCHEMID BHT6OIG HETTeMLOSHEMET QTN6TSH G S.
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Activities involving distribution of goods and services is called commerce whereas purchase and
sale of goods and services is called trade. Tabulate the other differences between the two?

(OR)

The Government of India is aware of the increasing importance of smart phones in the country. It
is also aware that even today a number of people do not have access to this technology, because
the smart phones available in the market are expensive. The Indian Research Organisation has
developed a cheap technology for Smartphone and has forwarded it to the government, with the
proposal that the government should venture in the business of manufacturing smart phones, and
has decided to open a government company to execute the proposal

(1) Define Government company.
(i1) Explain any four advantages of government company.

43. UMyl emeoTUel]  Sifs  Geusmeouledl(hh spule] CUMMEN].  Sieu]
SOHCUNG epllie)] 2atfliid QUMILIO]. el HeTmIenL U &WISS 6THS
@@ Filwmer GeuemeLd &L &&6TN606mEVGI 6T60TM QUBSHSHLILL (Hd
Q&M (HSHADM]. JUBSG 61HMTUGH @@ GCouamevenl LTSS
QaTHSHSHMVID U] 5L Heo BHrem @QBLILS6V6m6L.  Limey|eleot
besoiugmesr  FUTUS  QeumMISILOMET @ CHTLHL BLGSH 6uGHEMIMT].
Sl6U] SHEUTENINL LI HEUUILIFI6N LDSHEISHG HENLITET 6UNHLD  €R63T6MM
QMGG SBLMM ADDISSHIEDT].
(i) SHETILITET QUTNSLD QUMTUIMIHE
(i) evnwimen eueN&HGHlenT JCHMID BHMes@ FMULNLILSEDET N6TSHES .

(SI6L6VG))

@nHuwer  @QruievCGeu 2 60HCLCW @ WSLAUIlW  @ruievCGeu
AGWL. Q6T 2 Fflenow|d WOMID QUSHUPLD TEFTRISSSILGLD
2 aTengl. @& eeuCleum(h BHTEHLD LD&ESHETET SHTMITL  EUTLNSHMSHUI6L
QL QuOABGEADG. Q&1 QUWISSILTE®S 65000 &H.15-6@ GCLO6L
peromengn@. Qb  QHMLjeueoig  &WMJ 6Ly LN6LEOII6D
Lwlewn&enen gmmMIF CFeLHMGI.

(i) Q&MLJeueuvigll CUTSHEGEUTSHS60T HEOTEOLDSH6T UIT6mI6EU?

(i) HGH60T GMMLILT(HSH6T WIT6m6U?
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Mr. Balu has retired from a government job and now he is a pensioner. He is quite worried about
his son Kamesh, who is not able to find a suitable job. Even if he finds a job he is not able to
hold on to it. Mr. Balu’s nephew Sabapathi runs a successful business. He advices his friend to
open a sole-proprietorship business to his son.

(1) Define sole-proprietorship.
(i1) Explain any four features of sole proprietorship?

(OR)

Indian Railway is the largest Railway organisation in the world. It is owned and operated by the
Government. It touches the life of the people every day. The length of railway route is more than
65,000kms. The network carried about 8 billion passengers.

(1) What are the advantages of Railway transport?
(i) What are its disadvantages?

44.  (pSHeoTemipLILIeNGenT, @il MD  HlemeoLiLeoldem  LbMHMID  (PSHMLDGF
QFweoUT(H&HET HaIlJ 6UWNS QURISGET 6UMSHMSILITOTTSHaN6T CILITS)
heLWIHHTEH Hlev CFemeU e 6ULPMMIE ST 60T,

(i) HFCFeMeUG a6 CUWIENTS GMUN(HS.
(i) oeuMMIEL JCHEMID HTeTTHeM6sT QNG5S

(S16LEVS))
LUEUL&&  SMUUSLD  6THISHMLL  LIW6TUMLIgM&STSL  CUMHL &emern
Celhsg mausGL QL WLISAID WWOMID QIPRIGED  EMLDWIDTSHELD
QFweouB M. UWMILSS  SMUUSHGaNL  CFOIHH  meUsHGLD
QuUIT(BHL_s6rfl6oT &60T6MLOEMILILI QUTMIS S Sl6me
Qg IMESLILGHGIDET.  LUGIL &S SMUUSSHHET  gCHMID  BHS
HEOT6EMLOG6D6NT Y1615 (G .

In addition to primary, secondary and agency function, commercial banks offer many services for
general welfare of the customers.

(1) Identify the name of the service rendered
(i1) Explain any four functions.

(OR)
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Warehouse is a place where the goods are stored for future use and act as a distribution centre.
Warehouses are designed depending upon the nature of product to be stored. Explain any five
advantages of warehouses?

45.  Memeu(pld eumHHWmseNer QsmEEHSUUL (Hetem STUSE (G S L meuesor
almasHmeT GMIUILE sieumemml UMM allenss e1(p&GeyLb.

(i) Qeuausmns S LmeusmishHed (WPpHTeSQAsTems sSTUSE  CUMIB]T
LOG6wID 6wl hd LNMEG euUPRISLILIHLD.

(i) @&FHLLreungHed STIIE SHBITEL (PHTeUS CFHTenSHemil
sSMISE  QUMIBGBSG @@ GOUNLL Se1bd (PU|D  6em)
SlLELG| Sl LFEIILMLHS LNMEG SILLIHLD.

(i) @SSILLmaummsHed Qreani(h LG  SHG  CLmULL
BUTSeM6T oyuem STUSEH Q&S TGLD.

(ivy Qs LmauanddHeo (pHijad QsTems MG CHMMID L6V
QBLLD CHmMIL GMUILL QFHTens eUPRISLILIHLD.

v) QeI Lreuwwid GLbHmGHaTe  SHevadl, H@pewd  GCuTeTm
QFeveaysemear T(hH&L(HeusdMETSE 1(HSSLILGSMDE.

(SI6LEVG))

QRIGGET LeL eum&LUUELD. LNeTeU(hld 6URISSM6T 2 GHTJ6suHHIL 60T
&(HSSHLONG AN6NHGS.

(i) 6U6TINS 6UMISHG 61T

(i) 6UENMTEH eURIEG6N

(iii) Fal_(BMeY 6URIKG6I
(iv) QeueMBML(h 6UMIKIG6I

Identify the type of life insurance policies from the following sentences and explain about them.

(1) In this kind of policy a sum assured is payable on death of the assured.

(i1) Under this type of policy, the insurer undertakes to pay the assured a specified sum, on the
attainment of particular age or his death.

(iii) This policy is taken up jointly on the lives of two or more persons.

(iv) Under this policy, the assured sum is payable in monthly or annually.

(v) This policy is taken to provide funds for the education or marriage of children

(OR)
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Banks are many types. Explain the following briefly with examples.
(1) Commercial banks

(i1) Development bank

(iii) Co-operative banks

(iv) Foreign banks

46.  UetteoiTL(h HIMILDMIGET 6T6oTUH 6@ BHMLIlgeL QHTLMRSIUL(H L6
Br&eiled  eNwmumyd  QFWWD 6@ BHmiouaIon@Gwn. Ueerml (b
Hmimseafler Heotennseaned gCHMID RHSHlemeunr aeTdESs.

(916L6V &)

@alleum(p BML(H&HGD €(@h MW 6URS 2 661G 6@ BT Lg 6o
SMEWISHG URISGeMeT CFweoUThHemers &LGUBGSHSHID AHHSMILD
Abs 2.65F QRGUILLD eUUMLSSULL (H6Tengl. enWl  ehi&&erest
QeusuGam) QuuwIFseMest SIMLPSSLILI(HE60TM 6. Sl6m6S 6N 6T
Qeweour(msem  BMLlMG BTG wWLINUGL. @hHw  Haje eumnE
@nsHwimeNer DWW URISA  YGLD. GeT LNeTeU(HLD  LIGTNSHemern
aens G 5.

@) SITH 6T eURISIWIT

()  eUMREUWITSHeN6T 6uUmIS

(i) emumi CrTL(G&Hmen HFHL G GeuafuN(Reudled (LpmHMIFlenLd

(iv)  &SL60T &L (LML L ey

A multinational company is one which is incorporated in one country and which carries business
in many countries. Explain any five advantages of multinational companies?

(OR)

Every nation has one central bank. It is owned by the government. The control over the entire
banking system of a country is vested with this apex bank. Central banks are known as different
names in different countries. Their functions also vary from one country to other. Reserve Bank
of India is the central bank of our country. Explain the following functions of Reserve Bank of
India.

(1) Government Banker

(i1) Bankers bank

(iii) Monopoly of note issue
(iv) Controller of credit
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47. Ans peuemid HGLSHADHGLD eualiLGBSSWL 2 6T6em GG [JemL
alafl&&ng. @5 HMILGHST @@ WSHHDID HAUTIONGLD. Q8
oo QFTL_MmGLD  Guing FwmféEs Geusumgul  FLL LI FeILmen
S, QUETUTLOT(GLD.

() SIhG eueIGHleT GUWmTS GSOIUIN({HS.
(i) SIHET 2 66N SHSMIGenen eNelfl&s.

(S16L6LF))
LILp6DTl eTeoTLION] 62(Ih SL(RLOMenTLl QuUTMlLITen. Sieusny @reu(h &L lgL
RUUBSSSTIISET FHHGHMIEHET. SLlgL D Sl lg NOHUSMHS HeuflL LD
@UUBSLD Q&L Q&meter  eN(pNEIMIS6T.  (PHOHD  SeufsGen
QEWIUsHTE UGS TEII(H QeomusHed HIeTsHed (h UGS eml
QUITOLITEN(H&G UL HHUSTSH LIS CIHTES6TM6TI].
(i) A&l 61hs UMSBIITET CHTLHLTGLD?
(i)  SIHIemL W HoUweoLseNed gCHEMID BHTTH 6T Il6N& G .

It is the constitution of the company in its relation to the outside world. It is a primary document
of the company. It is a legal document prepared at the time of company formation.

(1) Identify the name of the document.
(i1) Explain its contents.
(OR)

Palani is a civil engineer. He has met two building contractors who wish to enter into agreement
with him to construct and sale buildings. They prepared to make the investment and offer one
fourth share in profits to Palani.

(1) Identify the type of business they start?

(i1) Explain any four of its features?
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